Y8 Fractions & Percentages
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| What do [need to be able | ; Peuwords |
| to do? I | Percent: parts per 100 — wintten using the / symbol I
| ——— | | Decimak a number in our base. 10 number system Numbers to the rigfit of the decimal place are caled decmas |
| Bythe end of this unit uou should be able to: | | Fraction: a fraction represents how many parts of a winok. value. you have. |
|« Covert beiween FOP kssthanand | | Equivalent: of equdl vale :
: more. than 100 _ | : Reduce: to make smaller n vale |
| *  erease. or decrease using muttiplers | | Growth: to ncrease./ to grow |
| Express an amount ¢ a percentage : | Integer: whole number, can be positive, negative or zero |
| Find percentage change | | Invest: use money with the g0dl of t increasing n vake over time (bsuall i  bork) |
- T |
I Convert FDP o Froctlon/ Percentage of amount o |
70 out of 100 i £60
I 70 hund
: ﬁ) . T;L;izo__b s —— HEEEE __»(Jm?gidths” o 2o £50 PR N3 TR :
70 hundredths” 1 &
: eng a 7010 = 7 tenths’ ‘ : : £ Remember :
| cabulator i 07 Be careful of recurring decimas 1] Rsemember 0/ of £60 - £6 i 2.607-06 |
| eg 1 -033333335 | || 57607 507 cf £60- £30 5 |
| % — | S2D | Conwert to a decimal 3 -03 I 607 of £60 - £36 60/ of £60 |
The dot dbote Te. 3 I ~ 06x 60 |
This wil give you the. answer \ x 100 converts [ =£36 |
[ in the simplest form to a percentage | | |
____________________—_—_—_—_—_—_—————_—_—:_—_—:_—'__ P __ el ———— 1
| | Convert FDP < and > 1007 :' Percentage decrease: Mutipiers t I Percentage increase: Multiplers |
| R | 1 100/ Ll < 1007 > IJ./: I
| 100 hundredths | FEEHHEH T 404“{;{2% || - 7, :, [l |
e | W [z | [ 1
| —— N a2y T Decremety587 | hcrease by 127 |
140 hundredths | ‘ I |
[ Coozmaor | et ! ! |
: I+-040- 407 I: 007 - B87 =427 Mutipler :I 007 + 17 = 12/ Mikipler |
|- 140 | 100-058-042 4 Lessthun | 100+ 0L~ 1R 47 Mot | |
' W n _  _____ J
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| Express s a 7 - Non-cakultor Percert — per furded || Express as 7 - Caleuiator |
I { |
: @ @ @® | 7pereweny 10ae ormge | Ths mears that 70 per every 100 y Il Rose@ |
| 0%e 5 weoer 10,1 107 (3 = B 433333...7 |
| ] A7 per eveny 50 shudeq | 5% per eveny 100 shoed I - |
l HHH Al 4. e 1 Tris the. same. a5 |
| T 50 100 [] Can't use eqivsence 13- 30
| T edsiy to find ‘per Decimal percentases |
| ’ Deromnadtor 100 Equudent fractions I hundred’ are st a percentage. :
R A L .
r———————————————————— — — — — — — — — —— — — I e =
| Percentage change L1 Choos i |
| | bougtit a howse for £180,000,1 I e appropriate method |
| bought a phone for £200 later sod t for £216,000 '] og I
I 0 year later sod t for £125 | |
l 1007 W The. enauage. and wording of |
\OO/ r . ) | the question s the key
| Ol vaes of change | £185000 | | |
I f g;oo | 4 compare tothe | | \ I |
| — ORGINOL vake — | I
I Percentage bss Percentage. profit [ | Haue. you represerted the question n a |
75 Difference in vale . « |00 —¥ 36000 | baor modzl?
: ~ 00 -3754 [ Original valle J Money mode (profit vabe) 180000 =207 | : Can you se a calculator? :
e e - j|
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